A UTTLE BIT OF MATHS EVERY DAY ...

MoNDAY TUESDAY WEDNESDAY THURSDAY FRIDAY SATURDAY SUNDAY
1
What is the #th ferm of the
AN UAR l z 01 1 .
232017 14
2 3 4 5 6 7 8
Without a caleulator,  The angles inla friangle are in the Caleulate: (Caleulate Estimate the value of Explain how you know line AB is a straight line
Work OUT: rafiol:2:3. 2 f 60 2% 10—2 £ 8x 10—3
i - -0
Is this is right angled triangle? N 0
142 x 87 How can you prove if? > (4-34 x19.2) A 43N\ 137 5
11.4
9 10 1 12 13 14 15
Which is larger? Without a caleulator. True or False? Which of the Following Work out A car uses 1 litre of fuel for every 15 miles if travels.
2 “u . . . . ?
38 x 10 work out: When you mufiply two numbers are prime? How many lifres are used to fravel 180 miles?
or 3800 X 1072 prime numbers together 05 42
the answer is always an 179116 m—xm
02 x 003 .
odd number-
16 17 18 19 20 1 y;
Simplify Put brackets in this Simplify What is the square root | A square has an area of There are 540 studerits in a school.
5a - (23 + 6) calculation fo make it (132 of 100 million? Bdom? 240 of the sfudents are girls.
correct. What is it meter? 15% of the boys are oldet than 16.
5-3x12+4=6 alis IS perimeter How many boys are over 16 years of age?
3 4 25 26 27 28 29
Expand & simplify = Find the HCF of 12 and  Caleulate: T:"Wgz‘)zgy ""dt‘)giT ”U;“ber§ ‘e:; Write the rafio in its | Julia buys a car for £7500 and pays a deposit of £1875
N n SIN .
(x - 1)(x - 5) 22 5 c e E:loweeartjse vsing e simplest form She pays the resf in 36 equal monthly payments.
£ _ 2 8.24 Work out the amount of each monthly payment
3 8 -
2 4| 5 8
30 3
Write 504 as a product Work out
of powers of ifs prime 3x-7 ” ”
faclors. REMEMBER: THE BEST WAY TO REVISE MATHS IS TO "DO MATHS"!

3+(2x7)
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